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46- Interpersonal process by which managers try to influence employees to accomplish set
task goals.
1) Leadership 2) Organizing 3) Goal setting 4) Planning

47- A need for change occurs when

1) A competitor develops a technology to manufacture goods more cheaply
2) Customers complain about product quality

3) a perceived problem exists and employees are quitting the organization
4) All of the above

48-There are three level of planning........

1) Strategic _ long range optical 2) Strategic _ long range overtime
3) Strategic _long range operational 4) Strategic _operational long range
49- Control process is setting ......... and .......... performance.

1) Evaluating  standards 2) Standards evaluating

3) Evaluating_ financial 4) Financial _evaluating

50- Which of the following managerial activities is not included in "POSDCORB"
1) Organizing 2) Budgeting 3) Representing 4) Staffing
P OBl de 5 jewlie = O)
Strategic management is essentially and culturally neutral and can be applied which
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52 - Job evaluation measures ..............

1) the worth of job 2) the worth of the job holder
3) job performance 4) attitude toward a job

53-A systemic and organized approach that allows management to focus on achievable
goals and to attain the best results from available resources is ....... .

1) Management

2) Objectives

3) Objectives and management

4) Management by objectives

54- Conflict between individuals is frequently caused by ........... differences
1) Custom 2) Personality 3) Environment 4) None of the above

55-There are three level of planning........



1) Strategic _ long range optical 2) Strategic _ long range overtime

3) Strategic _long range operational 4) Strategic _operational _long range
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